

County Distribution Detail Report through 10/02/2015

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,297	1,826	5	3,128	\$3,910.00	\$70.18	\$3,839.82	0.70	\$2,687.87
							Entity Tota	al:	\$2,687.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,687.87
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	4,828	10,035	36	14,899	\$18,623.75	\$384.27	\$18,239.48	0.70	\$12,767.64
							Entity Tota	al:	\$12,767.64
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,767.64
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
	Telecom Lines	Wireless Lines	-	Total Lines 1,959	Surcharge \$2,448.75	Admin Fee \$56.34	Net Surcharge \$2,392.41	-	Entity Amount \$1,674.69
Reporting Period			Lines		_		-	Percent 0.70	-
Reporting Period			Lines		_		\$2,392.41	Percent 0.70	\$1,674.69
Reporting Period			Lines		_		\$2,392.41 Entity Tota	Percent 0.70	\$1,674.69 \$1,674.69
Reporting Period			Lines		_		\$2,392.41 Entity Tota Adjustmer	Percent 0.70	\$1,674.69 \$1,674.69 \$0.00
Reporting Period 8/2015			Lines		_		\$2,392.41 Entity Tota Adjustmer	Percent 0.70	\$1,674.69 \$1,674.69 \$0.00

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,134.63
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	10,229	19,191	73	29,493	\$36,866.25	\$750.23	\$36,116.02	0.70	\$25,281.21
							Entity Tota	al:	\$25,281.21
							Adjustmer	nt:	\$0.00
_							Total Amo	unt:	\$25,281.21
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	12,770	24,510	165	37,445	\$46,806.25	\$981.11	\$45,825.14	0.70	\$32,077.60
							Entity Tota	al:	\$32,077.60
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$32,077.60
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	2,802	3,447	4	6,253	\$7,816.25	\$99.00	\$7,717.25	0.70	\$5,402.08
							Entity Tota	al:	\$5,402.08
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,402.08
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	626	367	1	994	\$1,242.50	\$10.49	\$1,232.01	0.70	\$862.41
							Entity Tota	al:	\$862.41
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$862.41
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	3,179	5,935	12	9,126	\$11,407.50	\$234.16	\$11,173.34	0.70	\$7,821.34

							Entity Total: Adjustment: Total Amount:		\$7,821.34 \$0.00 \$7,821.34
Campbell									<i>•••,•=•••</i>
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	862	1,436	2	2,300	\$2,875.00	\$57.52	\$2,817.48	0.70	\$1,972.24
							Entity Tota	l:	\$1,972.24
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$1,972.24
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	3,339	4,975	8	8,322	\$10,402.50	\$171.38	\$10,231.12	0.70	\$7,161.78
							Entity Tota	l:	\$7,161.78
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$7,161.78
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

City of North	Sioux	City,	Uni

58

8/2015

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	951	81	33	1,065	\$1,331.25	\$41.84	\$1,289.41	0.70	\$902.59
							Entity Tota	ıl:	\$902.59
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$902.59

\$91.25

\$3.38

\$87.87

Entity Total:

Adjustment:

Total Amount:

0.70

\$61.51

\$61.51

\$0.00

\$61.51

73

0

15

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2015	0	0	4	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
6/2015	0	0	4	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
7/2015	0	0	4	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
8/2015	6,008	1,284	261	7,553	\$9,441.25	\$275.81	\$9,165.44	0.70	\$6,415.81
							Entity Tota	al:	\$6,426.31
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$6,426.31
_									

Clark

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,677	2,380	2	4,059	\$5,073.75	\$101.50	\$4,972.25	0.70	\$3,480.58
							Entity Tota	l:	\$3,480.58
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$3,480.58

Clay

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	2,170	7,043	41	9,254	\$11,567.50	\$242.49	\$11,325.01	0.70	\$7,927.51
							Entity Tota	l:	\$7,927.51
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,927.51

Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	9,474	18,195	54	27,723	\$34,653.75	\$721.40	\$33,932.35	0.70	\$23,752.65
							Entity Tota	l:	\$23,752.65
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$23,752.65
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,510	457	4	1,971	\$2,463.75	\$55.47	\$2,408.28	0.70	\$1,685.80

Entity Tota	al: \$1,685.80
Adjustmen	nt: \$0.00
Total Amor	unt: \$1,685.80

Reporting Period VOIP **Total Lines Entity Amount Telecom Lines** Wireless Lines Surcharge Admin Fee Net Surcharge Entity Lines Percent 8/2015 3,949 4,593 24 8,566 \$10,707.50 \$240.69 \$10,466.81 0.70 \$7,326.77 Entity Total: \$7,326.77 Adjustment: \$0.00 **Total Amount:** \$7,326.77

Davison

Custer

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	6,565	13,181	150	19,896	\$24,870.00	\$528.54	\$24,341.46	0.70	\$17,039.02
							Entity Tota	:	\$17,039.02
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$17,039.02

Day

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	2,708	3,440	3	6,151	\$7,688.75	\$154.23	\$7,534.52	0.70	\$5,274.16
							Entity Total	:	\$5,274.16
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,274.16

Deuel

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	2,264	2,780	5	5,049	\$6,311.25	\$140.97	\$6,170.28	0.70	\$4,319.20
							Entity Tota	:	\$4,319.20
							Adjustmen	::	\$0.00
							Total Amou	int:	\$4,319.20

Douglas

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,467	2,046	4	3,517	\$4,396.25	\$81.11	\$4,315.14	0.70	\$3,020.60
							Entity Tota	ıl:	\$3,020.60
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$3,020.60
Edmunds									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,549	2,707	7	4,263	\$5,328.75	\$106.65	\$5,222.10	0.70	\$3,655.47
							Entity Tota	l:	\$3,655.47
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$3,655.47

Fall River

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2015	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
8/2015	3,566	3,940	8	7,514	\$9,392.50	\$191.15	\$9,201.35	0.70	\$6,440.95
							Entity Tota	al:	\$6,441.83
							Adjustmer	nt:	\$0.00

Faulk

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,026	1,332	4	2,362	\$2,952.50	\$60.02	\$2,892.48	0.70	\$2,024.74
							Entity To Adjustme		\$2,024.74 \$0.00

Total Amount: \$2,024.74

\$6,441.83

Total Amount:

Grant

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2015	0	0	80	80	\$100.00	\$0.00	\$100.00	0.70	\$70.00
6/2015	0	0	90	90	\$112.50	\$0.00	\$112.50	0.70	\$78.75
7/2015	0	0	90	90	\$112.50	\$0.00	\$112.50	0.70	\$78.75

8/2015	2,836	5,163	122	8,121	\$10,151.25	\$228.81	\$9,922.44	0.70	\$6,945.71
							Entity Tota	al:	\$7,173.21
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,173.21
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	2,012	3,518	3	5,533	\$6,916.25	\$149.42	\$6,766.83	0.70	\$4,736.78
							Entity Tota	al:	\$4,736.78
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,736.78
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,108	1,347	5	2,460	\$3,075.00	\$61.52	\$3,013.48	0.70	\$2,109.44
							Entity Tota	al:	\$2,109.44
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,109.44
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	2,092	3,473	7	5,572	\$6,965.00	\$139.32	\$6,825.68	0.70	\$4,777.98
							Entity Tota	al:	\$4,777.98
							Adjustmer	nt:	\$0.00

Hand

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,336	2,549	7	3,892	\$4,865.00	\$97.46	\$4,767.54	0.70	\$3,337.28
							Entity Tota	ıl:	\$3,337.28
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$3,337.28

Total Amount:

\$4,777.98

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,099	2,815	22	3,936	\$4,920.00	\$99.63	\$4,820.37	0.70	\$3,374.26
							Entity Tota	al:	\$3,374.26
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$3,374.26
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	758	791	1	1,550	\$1,937.50	\$48.41	\$1,889.09	0.70	\$1,322.36
							Entity Tota	al:	\$1,322.36
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$1,322.36
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	3,872	14,219	96	18,187	\$22,733.75	\$483.21	\$22,250.54	0.70	\$15,575.38
							Entity Tota	al:	\$15,575.38
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$15,575.38
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	3,482	4,751	8	8,241	\$10,301.25	\$206.05	\$10,095.20	0.70	\$7,066.64
							Entity Tota	al:	\$7,066.64
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$7,066.64
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	848	1,041	2	1,891	\$2,363.75	\$48.51	\$2,315.24	0.70	\$1,620.67
							Entity Tota	al:	\$1,620.67

Adjustment:

\$0.00

Total Amount: \$1,620.67

\$1,896.78

\$10,737.36

Total Amount:

Jackson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	770	822	0	1,592	\$1,990.00	\$39.82	\$1,950.18	0.70	\$1,365.13
							Entity Total:		\$1,365.13
							Adjustment:	:	\$0.00
							Total Amour	nt:	\$1,365.13
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,053	1,159	0	2,212	\$2,765.00	\$55.32	\$2,709.68	0.70	\$1,896.78
							Entity Total:		\$1,896.78
							Adjustment:	1	\$0.00

Jones

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	633	644	3	1,280	\$1,600.00	\$32.02	\$1,567.98	0.70	\$1,097.59
							Entity Tota	l:	\$1,097.59
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,097.59

Kingsbury

8/2015

3,563

8,950

19

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,611	3,891	3	5,505	\$6,881.25	\$138.26	\$6,742.99	0.70	\$4,720.09
							Entity Total:		\$4,720.09
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,720.09
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

\$15,665.00

\$325.92

\$15,339.08

0.70

12,532

Entity Total:	\$10,737.36
Adjustment:	\$0.00
Total Amount:	\$10,737.36

Lawrence

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	9,971	14,897	57	24,925	\$31,156.25	\$637.87	\$30,518.38	0.70	\$21,362.87
							Entity Tota	:	\$21,362.87
							Adjustment	:	\$0.00
							Total Amou	nt:	\$21,362.87
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	7,038	36,356	182	43,576	\$54,470.00	\$1,145.99	\$53,324.01	0.70	\$37,326.81
							Entity Tota	:	\$37,326.81
							Adjustment	:	\$0.00
							Total Amou	nt:	\$37,326.81

Lyman

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,426	1,785	1	3,212	\$4,015.00	\$86.73	\$3,928.27	0.70	\$2,749.79
							Entity Tota	l:	\$2,749.79
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$2,749.79

Marshall

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	2,083	2,657	9	4,749	\$5,936.25	\$121.39	\$5,814.86	0.70	\$4,070.40
							Entity Tota	I:	\$4,070.40
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,070.40

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	2,738	4,105	8	6,851	\$8,563.75	\$171.34	\$8,392.41	0.70	\$5,874.69
							Entity Tota	l:	\$5,874.69
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$5,874.69
McPherson									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,210	1,417	1	2,628	\$3,285.00	\$78.23	\$3,206.77	0.70	\$2,244.74
							Entity Tota	l:	\$2,244.74
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$2,244.74

Meade

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	5,046	17,420	164	22,630	\$28,287.50	\$594.71	\$27,692.79	0.70	\$19,384.95
							Entity Total:		\$19,384.95
							Adjustment		\$0.00
							Total Amou	nt:	\$19,384.95

Mellette

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	634	589	0	1,223	\$1,528.75	\$30.59	\$1,498.16	0.70	\$1,048.71
							Entity Tota	l:	\$1,048.71
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,048.71
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,150	1,484	5	2,639	\$3,298.75	\$69.91	\$3,228.84	0.70	\$2,260.19

Entity Total:	\$2,260.19
---------------	------------

Adjustment: \$0.00

Total Amount: \$2,260.19

Minnehaha

Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	52,089	137,893	1,404	191,386	\$239,232.50	\$5,045.42	\$234,187.08	0.70	\$163,930.96
							Entity Tota	I:	\$163,930.96
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$163,930.96
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,658	4,360	11	6,029	\$7,536.25	\$149.76	\$7,386.49	0.70	\$5,170.54
							Entity Tota	I:	\$5,170.54
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,170.54
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	33,223	69,003	433	102,659	\$128,323.75	\$2,652.78	\$125,670.97	0.70	\$87,969.68
							Entity Tota	l:	\$87,969.68
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$87,969.68
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,794	2,421	6	4,221	\$5,276.25	\$115.52	\$5,160.73	0.70	\$3,612.51
							Entity Tota	I:	\$3,612.51
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,612.51
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	1,535	1,651	4	3,190	\$3,987.50	\$79.77	\$3,907.73	0.70	\$2,735.41

Entity Total:	\$2,735.41
Adjustment:	\$0.00
Total Amount:	\$2,735.41

Roberts

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	4,221	4,446	6	8,673	\$10,841.25	\$238.79	\$10,602.46	0.70	\$7,421.72
							Entity Tota	l:	\$7,421.72
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$7,421.72
Sanborn									

Reporting Period Wireless Lines VOIP **Total Lines** Surcharge Net Surcharge Entity **Entity Amount Telecom Lines** Admin Fee Percent Lines 8/2015 1,019 1,752 0 2,771 \$3,463.75 \$69.30 \$3,394.45 0.70 \$2,376.12 Entity Total: \$2,376.12 Adjustment: \$0.00 **Total Amount:** \$2,376.12

Spink

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	2,445	4,421	6	6,872	\$8,590.00	\$172.06	\$8,417.94	0.70	\$5,892.56
							Entity Total	:	\$5,892.56
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,892.56

Stanley

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	858	2,109	8	2,975	\$3,718.75	\$76.11	\$3,642.64	0.70	\$2,549.85
							Entity Total:		\$2,549.85
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,549.85

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	893	1,084	1	1,978	\$2,472.50	\$49.47	\$2,423.03	0.70	\$1,696.12
							Entity Total:		\$1,696.12
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$1,696.12
Todd									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	0	14	3	17	\$21.25	\$0.43	\$20.82	0.70	\$14.57
							Entity Tot	al:	\$14.57
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$14.57

Tripp

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	2,808	3,730	7	6,545	\$8,181.25	\$163.65	\$8,017.60	0.70	\$5,612.32
							Entity Total	:	\$5,612.32
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,612.32

Turner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	2,659	5,717	12	8,388	\$10,485.00	\$211.40	\$10,273.60	0.70	\$7,191.52
							Entity Tota	l:	\$7,191.52
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,191.52
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	3,804	11,666	61	15,531	\$19,413.75	\$450.33	\$18,963.42	0.70	\$13,274.39

Entity Total: \$13,274.39

Adjustment: \$0.00

Total Amount: \$13,274.39

Walworth

Totals

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	2,543	3,534	9	6,086	\$7,607.50	\$153.74	\$7,453.76	0.70	\$5,217.63
							Entity Total	:	\$5,217.63
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,217.63
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

			Lines					Percent	
8/2015	6,744	14,537	26	21,307	\$26,633.75	\$545.57	\$26,088.18	0.70	\$18,261.73
							Entity Total:		\$18,261.73
							Adjustment:		\$0.00
							Total Amount	:	\$18,261.73

264,896 543,953 3,912 812,761 \$ 1,015,951.25 \$ 21,174.29 \$ 994,776.96